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Question No. 1

Purkinje fibers are specialized -

A) Cells in blood B) Neurons in the brain
C) Glandular cells in skin D) Muscle fibres in the heart
ffest g # Rafre §
A) & H FIfRwT B) Afdsh # ~gleq
C) caar # IATY FAHT D) % & &Y g
Answer Key : D Your Response : Not Answered

Question No. 2

Which of the following gases causes acid rain along with sulphur dioxide and carbon

monoxide?
A) Hydrogen B) Oxygen
C) Nitrogen oxides D) Carbon dioxide

f=faf@d 7 ¥ 59 3 & gew sEsieass 3R Fes ANRTTaEs F e Ada & g9 9
3% auT gidr 87

A) s B) 3iferefiaiet
C) ATSersteT 3Farss D) &IeeT SE3TFaSs
Answer Key : C Your Response : C (Correct)

Question No. 3




C) P D) R
&r a1$ Aol F 3rgufeyd 3R w1d Hifaw
A C F () O
A) M B) J
C) P D) R
Answer Key : B Your Response : B (Correct)

Question No. 4
What is the other name of Soccer?
A) Polo B) Football

C) Hockey D) Basketball

TR F 3T 5T JAH7 A ST AT &2

A) drelt B) esier
C) grehr D) srEdhedre
Answer Key : B Your Response : B (Correct)

Question No. 5

Citrus fruits are considered a rich source of-

A) Vitamin C B) Vitamin D
C) Vitamin A D) Vitamin B
W HA A T UH GHE Ad AT T g

A) faafa« C B) faerfA=r D

—_ o~ ~~ - —_— o~ o~ —_



Question No. 6

What was the purpose of 'Project arrow' in postal department started in the year 2008?

A) Enchancing the quality of services in mail B) All of the options

delivery

C) Focusing on money remittances and D) Improvement in core operations of post

savings bank offices

a§ 2008 ¥ 3R AT 7 YE FFY AT Hisee T T 32RT AT AT?
A) A fSeladl & Qamsit & qorEear # gUR - B) s & gl

C) &eiIfel 9uuT 3R aod deh W €O dhigd D) sl e’ i e fafafar & gur
AT

Answer Key : B Your Response : Not Answered

Question No. 7

At what rate percent will a sum of money double itself in

12 years?

A) B)

0) D)

% 8%

D | =




A) B)

8 =% 8—%
0) D)
sl 8%
2
Answer Key : B Your Response : B (Correct)

Question No. 8

Three numbers in the ratio 3 : 4 : 5 have the LCM 2400. What is the HCF?
A) 40 B) 200

C) 80 D) 120

3:4:5 % 30U drell ofiel FEABIE FT T.H.I(LCM) 2400 gl 31T A.F.G(HCF) aid Hifsiw]

A) 40 B) 200
C) 80 D) 120
Answer Key : A Your Response : A (Correct)

Question No. 9

If the first number and the second number is 256% and 50% more than the third number
respectively, find the respective ratio between the first and the second number.

A) 1:2 B) 5:6

C) 6:5 D) 2:1

I wgelr T 3R qEdr e, el S i gorer 7 FERr: 25% 3R 50% e §, o ggen



C) 6:5 D) 2: 1

Answer Key : B Your Response : B (Correct)

Question No. 10

Complete the series.

2, 3,7, 34,50, (...)

A) 184 B) 193
C) 175 D) 163
Aol ¥ ot BTl

2, 3, 7, 34, 50, (.)

A) 184 B) 193
C) 175 D) 163
Answer Key : C Your Response : Not Answered

Question No. 11

Fix the symbols +, -, X, + appropriately in the box to fit the equation given here.

1000250505021 =0

Tgi T T FHAEOT F# WY T F AT F@FAm +, -, x, + F G FA AT Ao



C) +s +! X’_ D) +a Xa_’+

Answer Key : B Your Response : B (Correct)

Question No. 12

By whom was the modern periodic table given?
A) Mosley B) Mendeleev

C) Einstein D) Bohr

YA 3T RO A WieT FaS G@rT A T A2

A) AN B) #zdha
C) e D) sigx
Answer Key : B Your Response : A (Wrong)

Question No. 13

During setting of plaster of Paris-

A) Mass is expanded B) Both mass is expanded and heat is
liberated
C) Heat s liberated D) Combustion takes place

TS 3% IRE & 3 @l & GRIeT T gar &7

A) ZeTA & [AEAR 8T &l B) cegART @ fa&drX giar § 3R FsAr Hed
g &
C) FSAT HFd gieil gl D) STeralsle giar &l
Answer Key : B Your Response : B (Correct)

Question No. 14

Complete the series.



C) 498 D) 475

Aol @ qof el

5, 30, 25, 125, 120, 480, (..)

A) 483 B) 528
C) 498 D) 475
Answer Key : D Your Response : D (Correct)

Question No. 15
Who has the power to proclaim the state of emergency in India?
A) Vice-President B) President

C) Prime Minister D) Chief Justice of India

HRT F AT T BTN T F AOFR FaF g 872

A) 39 Irseufd B) rsgufd
C) TETTHAT D) $IRd & HET ATgrefer
Answer Key : B Your Response : A (Wrong)

Question No. 16

Find the ODD one out from the given options.

A) DC B) CB
C) GF D) EF
T v Reredt & F rwwa F:r g

A) DC B) CB



Question No. 17

If 'LBAEHC' is coded as 'BLEACH', then which of the following is coded as 'NBOLZKMH'?
A) BONKZLHM B) BNOLKZMH

C) BNLOKZHM D) BOLNHMKZ

Ifg el geswr #, 'LBAEHC' I 'BLEACH' & &9 & HIf3d fhar oiar &, of faesr & &
'NBOLZKMH' & &9 # if$d forar seem?

A) BONKZLHM B) BNOLKZMH
C) BNLOKZHM D) BOLNHMKZ
Answer Key : C Your Response : C (Correct)

Question No. 18

When was Sri Lanka's first satellite Ravana 1 launched into space from NASA's Flight Facility?
A) April 2019 B) March 2019

C) February 2019 D) May 2019

NASA #r 331 giaer & 3iafet # AeHr w1 ggem 399g Taor 1' Fa Al Far aw=r ar?

A) 318 2019 B) &AW 2019
C) wadl 2019 D) #ig 2019
Answer Key : A Your Response : Not Answered

Question No. 19

A heterogeneous mixture in which the solute particles do not dissolve but remain suspended
throughout the bulk of the medium is known as-

A) Saturated solution B) Suspension

C) Unsaturated solution D) Colloids

A Aoy Mo A AR F sor A IS ¥ s o e T AR s = R



C) 3 Eded faerds D) ®ieliss

Answer Key : B Your Response : D (Wrong)

Question No. 20

Which of the following is a 'Surface to Air Missile'?
A) K-15 Sagarika B) Brahmos

C) Trishul D) Agni

farafaf@a A & sl T i § a1 7 AR & e s 82

A) K-15 dmETiRERT B) sEHd
C) T[er D) 3if3eT
Answer Key : C Your Response : Not Answered

Question No. 21

The loss incurred in a sale of an article is equal to 60% of the selling price of the article. What is
the actual loss per cent?

A) 37.5% B) 28%

C) 25% D) 40%

e avg i REfr 3 O archr @f, g F T oI F 60% F W ¥ IRl g
EIGHG GG REIIE L

A) 37.5% B) 28%
C) 25% D) 40%
Answer Key : A Your Response : B (Wrong)

Question No. 22

Find the ODD fraction.
18/72, 24/96, 51/204, 108/432, 18/90



yd e ana fifowl

18/72, 24/96, 51/204, 108/432, 18/90

A) 18/90 B) 24/96
C) 108/432 D) 51/204
Answer Key : A Your Response : A (Correct)

Question No. 23

In this question, statements are given followed by two conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statements:
C>U<S<T=0>D2Y,Z=0<P

Conclusions:

.Z>Y

I.C<O

A) Only conclusion | is true B) Only conclusion Il is true

C) Either conclusion l'or Il is true D) Both conclusions | and Il are true

S0 W H, YA & g ar skl QU 1w §| 39 st #1 e, S difed §7 @ w@iew
39gF &l

CRIOE

C>U<S<T=0>Dz2Y,Z=0¢<P



I.C<O

A) dad f@sny | 3uged gl B) ahdel fisehy I 3ugerd Bl
C) ar dr sy | &1 Il 3UYFA & D) TSy | 3 Il alet 3ugerd &
Answer Key : A Your Response : A (Correct)

Question No. 24

Read the following information carefully and answer the question given below.

Seven persons—L, M, N, O, P, Q and R like different colours—red, blue, white, pink, green,
black and yellow, but not necessarily in the same order. They all have different hobbies (or they
like different activities) shooting, travelling, dancing, gardening, hunting, painting and writing,
but not necessarily in the same order.

The hobby of O is shooting. The one whose hobby is gardening likes pink colour. L likes yellow
colour. The one whose hobby is writing likes green colour. The hobby of Q is dancing. Neither O
nor Q likes black colour. The one whose hobby is painting and travelling does not like black
colour. The hobby of L is not travelling. The one whose hobby is travelling does not like red and
white colour; O does not like red colour. The hobby of P is neither hunting nor gardening. P
does not like green colour. R does not like green and black colour. The hobby of M is not
writing.

Which of the following is the hobby of P?
A) Hunting B) Gardening

C) Writing D) Travelling

AfA@d SIHRT & €T § 96 3R A Re 91w e &1 e} &



T8 B 0 A F

O #r fder &1 il B O aweranh @ ofF @ 3/ qen &1 udg §1 L B Ger & g g
o ot &7 el 8, 3@ &0 67 Wi §1 Q A 7 @ i ¥l T @ O AR 7 & Q Fr Frew Gor
weig gl o 9feer il amar @ el §, 38 wrem T GG S §1 L F Amw @ diw e g o
AT A 2R &, 3H el AR {hE [T TG QT §; O N AT TN 9 7ef &1 P & & ar RpR

T 3R 5T & SeEET #7 dld &1 P # &7 T w6 797 &1 R A &0 AR Frer W1 96 Fg6r g1 M
FI @ T AP FAET B

P &I Re=afaf@a & ¥ e e 872

A) IR B) SmMTaTeT
C) <@l D) JmET
Answer Key : D Your Response : Not Answered

Question No. 25

How many triangles are there in the given figure?

BT » 16

0 D)



al 35 ATpTd H Tehad T3] 87

A B
) 18 ) 16
0 D)
15 14
Answer Key : A Your Response : A (Correct)

Question No. 26

Which word will best complete the relationship given below?

Taj Mahal : India :: Petra : ?
A) ltaly B) Denmark

C) Colombia D) Jordan

FieT T 2eg, ATl waer @ wafeas o1 & Ut Fem?

dIeTAge @ IR @ Yer : ?
A) gl B) A&

A DS Ny —



Question No. 27

The Arjun is a third generation developed by India's Defence Research and
Development Organisation (DRDO), for the Indian Army.

A) Main battle tank B) Jet fighter

C) Helicopter D) Light combat aircraft

ot HRAT T gaerer 3R e Heree (DRDO) garT #Re e & fow fwfia dadr
digrar Bl

A) 7ET g & B) @srh faHmT
C) gelehreet D) geehr @8l fa#reT
Answer Key : A Your Response : Not Answered

Question No. 28

In the given figure, the circle represents editors, triangle represents
directors, and rectangle represents singers. Which region represents
the personswho are editors and singers but not directors?

A) B)

0 D)

L2



aﬁaﬁﬁﬁ,ﬁmﬁmmﬁ,wmmﬁﬁﬁﬁﬁm
& 3k o T B SRR ST &1 BT T 87 37 AFad B Ewd aar
& = gures 3 T § orfere foiders 8T 67

G

A B
) 1 )
4
C) 5 D)
3
Answer Key : C Your Response : C (Correct)

Question No. 29

Convert inte vulgar fraction:0.2437

A) B)

2437/9930 2413/9900

C) D)



HTUROT 87 H INafad $hifere: 0.2437

A) B)
2437/9990 2413/9900
C) D)
2413/9999 2437/9999
Answer Key : B Your Response : Not Answered

Question No. 30

In a certain code, 'AWAKE' is written as 'ZVZJD'. How is 'FRIEND' written in that code?
A) EQHDMC B) EQHMDC

C) EHQDMC D) EQMHDC

v AR gesmr #, "AWAKE' @t 'ZVZJD' foar Sirar §1 38 Feemsr & 'FRIEND' & & forar
SITean?

A) EQHDMC B) EQHMDC
C) EHQDMC D) EQMHDC
Answer Key: A Your Response : A (Correct)

Question No. 31




A) B)

0 D)

T3 HITeTT: /64009 - /53824

A) B)
23 21
O D)
21 17
Answer Key : B Your Response : Not Answered

Question No. 32

If sin © + sin? O = 1, then find cos? 6 + cos? 6.

A) -2 B) 2

~\ A ™\ 4



A) -2 B) 2
C) -1 D) 1

Answer Key : D Your Response : D (Correct)

Question No. 33

The number of atoms or molecules or ions present in one mole of a substance is called-

A) Normality B) Avogadro number
C) Mass number D) Atomic number
el wert & o A # Higg AR AT IRt ar IS fr e @ gl STl
gl
A) sreHerar (Normality) B) Talmgr IE&AT
C) GcUATT HE D) WA HHAIS
Answer Key : B Your Response : B (Correct)

Question No. 34

How much work is done in moving 2 Coulombs of charge across two points having a potential
difference of 12 V?

A) 6 Joule B) 18 Joule

C) 24 Joule D) 12 Joule

12 V Remaiay arer & g3t & 9 v 2 FoH M6 B TAEART W F fRar mar s
fheteTr gam?

A) 6 S{eT B) 18 SGl
C) 24 S D) 12 e
Answer Key : C Your Response : C (Correct)

Question No. 35




C) sin©-cos 6 D) sin© +cos 6

T HL: cos O(1 - tan 6) + sin 6 (1 - cot 6)

A) O B) tan 6 + cot 6
C) sin 6 - cos 6 D) sin & + cos 6
Answer Key : A Your Response : A (Correct)

Question No. 36

If the potential difference across the ends of a conductor is halved, what happens to the current
flowing through it?

A) It gets increased B) It gets doubled

C) It gets decreased D) It gets halved

Ify et Tt & AT & g AerEioR # 3mr X f&Ar Siar §, af $9 S8 arell ORT 9T T
JHIT BIem?

A) d¢ STEal B) cle g1 Sireeft
C) e g U D) 3mefr g Sreeft
Answer Key : D Your Response : D (Correct)

Question No. 37

The mineral (ions) necessary for coagulation of blood is-
A) Sodium B) Chlorine

C) Calcium D) Potassium

SoTH § PleT TT & & SIH & AT 3Maegs Gietsr (ion) &2
A) aifsgA B) wFeilieT
C) Hferrad D) dicfere

Ancurar Kavxr * Vanr Roennnen * C (Carract)



but it crosses the man in 2 seconds. What is the length of the train?
A) 60m B) 40m

C) 80 m D) 45m

T IfFd 70 HeT & lehE W ST 1 Th (S SlehRy & 5.5 V53 H 9N &l g,
AfFeT 39 AP T 2 Ths H IR T g1 IomEr Fr o Fhaeir &2

A) 60 #HIeT B) 40 HicX
C) 80 #HIX D) 45 #Hiex
Answer Key : B Your Response : B (Correct)

Question No. 39

How does a lubricant reduces friction between moving parts of a machine?

A) Lubricant tears the parts B) The lubricant forms a thin film of surface
between the moving parts so that they
don't rub against each other directly

C) Lubricant makes the moving parts tight D) Lubricant increases the  material's

irregularities

s fFdr A0 & afaeher Redh & = afor A F& w7 Far 872

A) g goft @1 e & B B) g, aifaelier It & & T gefelr fohew
Sllcl g, difer d WY Teh @y & WS o
|

C) Tigeh drfcreliel Yoil &l & el & D) Tigeh AT Hr ATAITAAAINT T Ferar gl

Answer Key : B Your Response : B (Correct)

Question No. 40

A policeman left his police post and proceeded south 4 km. Then he turned left proceeded 4 km
to reach the point B. From B, he proceeded left to reach another place C which is 4 km away. In
which direction has he to go to reach his police post?



e gfawsedt 3vel i 9l & et gflior i 3K 4 B 3 seTl R ag 9 g 4
frel 3T it g B o UgTl $9F S1G 9% IA: ¢ AW B ¥ TH I T C W KA
I, S 4 R AT gl W R ¥ 3V 39 gfo Wi a% ggue & faw R fewm F St
gom?

A) 9iggH B) 3cR
C) qg:‘r D) afeor
Answer Key : A Your Response : A (Correct)

Question No. 41

Which is the main source of almost all energy on Earth?
A) Sun B) Moon

C) Water D) Atmosphere

gt X Fle[g @l s T qeT W s § FleT @r §?

A) T B) dgaT
C) dwir D) agHse
Answer Key : A Your Response : A (Correct)

Question No. 42

Which of the following is an olfactory indicator?
A) Phenolphthalein B) Litmus paper

C) Red cabbage juice D) Vanilla

fArfaf@a & @ =l @1 st gER(olfactory indicator) 87
A) $rATeFATeA B) folcaAd dwX
C) @Tel Yearansiy &l & D) deirel

Answer Key : D Your Response : Not Answered



A) Refractive index = Speed of light in air x B) Refractive index = Speed of light in
Speed of light in material material/ Speed of light in air

C) Refractive index = Speed of light in air/ D) Refractive index = Speed of light in air +
Speed of light in material Speed of light in material

T 9ere 7 39adsin gar F TR i O § R YR 6T g 87
A) 3Udded = §ar H YhTeT ST ATl x eI H B) 31Udclelih = eIy & Yehrer I el / gar &

Tl T el Tl AT TTel
C) 39ddeTish = §aT & YRl I Al / g1y F D) 37Uddelich = gal & YRl &t IOl + Jerd &
TehTr T dTel TehTr T dTel
Answer Key : C Your Response : C (Correct)

Question No. 44

Find the missing group of alphabets in the following series.

A, CD, GH|, (...), UVWXY
A) MONP B) MPNO

C) MNOP D) LMNO

ar a1$ AV F UTRUT IEN-TIHg AT AT

A, CD, GHI, (.), UVWXY

A) MONP B) MPNO
C) MNOP D) LMNO
Answer Key : C Your Response : C (Correct)

Question No. 45




FHFIT 6x - 3y + 10 = 0 3 2x - y + 9 = 0 E@RT f&FE YR &ir I@BT F AwlRaT BFar
ST 872

A) FHAATR B) @uTRa #&r forar o dehar
C) UL D) wfaeesdr
Answer Key: A Your Response : A (Correct)

Question No. 46

The word aqueous (aq) is written if the reactant or product is present as a/an-

A) Concentrated solution B) Solution in water
C) Isotonic solution D) Solution in kerosene
i 3IPFRF a1 3G & § I Hlgg giar §, o g aqueous (aq) for@r e Bl
A) arg faerdst B) Sl Taerget
C) HHATRERT TderdeT D) fAST & do H fderder
Answer Key : B Your Response : B (Correct)

Question No. 47
What is the Sl unit of electric current?
A) Coulomb (C) B) Joule (J)

C) Ampere (A) D) Volt (V)

fega UrT ST S| AF 4T 82

A) FertH (C) B) Sl (J)
C) TFRR (A) D) diec (V)
Answer Key : C Your Response : C (Correct)

Question No. 48



C) Asbestosis D) Lung cancer

THRH T @fe BseT § S §aT A1 Ul B Yga FX FEaT § 3R 3cqeeT
TRl &1

A) FHAATOIAT, Bhs #I Hex AR T @d  B) FAAfe™EAT
C) uTSEeiad D) sl & FE

Answer Key : A Your Response : A (Correct)

Question No. 49

Which is the strongest bone in the human body?

A) Shin bone B) Ankle
C) Thigh bone D) Spinal cord
Al AR AT Gl AT g3 it Ar 2
A) TOselr dr gssr B) @
C) Sfier & gger D) H¥GUs
Answer Key : C Your Response : C (Correct)

Question No. 50

How much material is wasted when a solid cone of height 24 cm and radius 8 cm is recast into
a solid cylinder of radius 6 cm and height 6 cm?

A) 37.5% B) 52%

C) 57.8% D) 64%

99 6 ¥Fr F=ar 3R 6 Y SIS a1 T O o ¥ 24 T Far$ 3R 8 T == arer o
A T FARIT ST §, aF el el ssig gidr 82

A) 37.5% B) 52%

C) 57.8% D) 64%



Complete the series.

536, 268, 134, 67, (...)

A) 335 B) 35.2
C) 34.6 D) 31.4
fofr i gt Hifaw]

536, 268, 134, 67, (..)

A) 33.5 B) 35.2
C) 34.6 D) 314
Answer Key : A Your Response : A (Correct)

Question No. 52

A sum of money at 8% Simple Interest was placed in a deposit for 7 years. The matured
amount was then invested in a scheme offering 10% Compound Interest compounded annually,
thereby procuring an interest of Rs.1638 in 2 years. What was the original sum?

A) Rs.5000 B) Rs.8000

C) Rs.6200 D) Rs.7500

TF RN 8% HAEUROT A1l W 7 9§ & faw star & a1 & aRusa AR A 10% wHafE sarsr
& 9 &x arelr drerem & fAaer fFr o=, Swd 2 auf & %.1638 & sarer wiod gier 81 T
RN AT H

A) %5000 B) %.8000
C) %.6200 D) %.7500

Answer Key : A Your Response : A (Correct)



C) Rajasthan D) Punjab

ART & 59 TsT & IPaa &1 e 931 e &g 2

A) gRamom B) IeRTd
C) T=TEUT D) Yot
Answer Key : C Your Response : C (Correct)

Question No. 54

Which of the following is a waterborne disease?
A) Malaria B) Influenza

C) Cholera D) Small pox

Rfaf@a & 9 Fi9 a1 v STeefaa T 872

A) FeIRET B) SWe[UsT
C) gem D) oI I9%
Answer Key : C Your Response : C (Correct)

Question No. 55

W]
-|

[R
W]
[l §
x

Simplify: 2

A) B)

L9
Wiy
L
O

0 D)



Olel AT 25+15-5% — of 10-[50+10- 5]

A) B)
25 20
0) D)
10 15
Answer Key : D Your Response : D (Correct)

Question No. 56
What is the theme of 'National Girl Child Day', 2019?
A) Empowering girls for a brighter tomorrow  B) Let's bring change to the world

C) Bridging health and social care D) Leave no one behind

T Siferenr feaw, 2019 & Avg-a%g 4T 87

A) UF 3solael Hel & AT wsfRal A @uFd B) gfadm # sedra oy
eATeAT

C) Tareeg 3R IHfee @At & defdd D) fordr & 9 o o8
giaemsit & qfcd e

Answer Key : A Your Response : A (Correct)

Question No. 57




C) Friction force D) Centripetal force

e e & HROT UEAT Gl & ARE 3 A Gl et H gHA g2

A) TifEed o B) 3MUcheq ool
C) =YuT §of D) 3iffcheg do
Answer Key : D Your Response : D (Correct)

Question No. 58

"Theory of Natural selection" was proposed by -
A) Charles Huxley B) Charles Darwin

C) Erasmus Darwin D) Morgan

"qiepfceh TaeT FT Rgid (Theory of Natural selection)" & garT F&arfad fmar arr ar?

A) Tl gFde B) dred 3ifdel
C) ZEaAd sifdet D) &fae
Answer Key : B Your Response : Not Answered

Question No. 59

The sum of the ages of a father and son is 45. Six years ago, their ages were in the ratio 10 : 1.
How old will the son be after six years?

A) 19 B) 15

C) 20 D) 16

U far 3R gT B g FT AT 45 §1 O 9§ Ugd, Soh Y FT I 10 ¢ 1 A1l BF a¥
a1, IF i 31y Rt el

A) 19 B) 15
C) 20 D) 16

Ancurar Kavx * R Vanr Roennnen * R (Carract)



A) Football B) Hockey

C) Badminton D) Cricket

Hary gt ferfaf@a & & fFg g & gdfta 82

A) TesTe B) &mhr
C) ssfea D) fohehe
Answer Key : A Your Response : A (Correct)

Question No. 61

6 men and 2 boys can do five times as much work as one man and one boy. Find the ratio of
the working capacity of a man to that of a boy.

A) 1:3 B) 3:1

C) 3:2 D) 4:1

6 9o¥ 3R 2 oI5, UF 3T 3R UF a5F f I F U IAT SATET FH F FHA §l T
3MeHr AR UH o5F HY FHR &THAT FT I AT AT

A 1:3 B) 3:1
C) 3:2 D) 4 :1
Answer Key : B Your Response : B (Correct)

Question No. 62

Arun went to a nearby city at a speed of 25 km/h and returned at 20 km/h. If the total time for
the trip was 1 hour 48 minutes, what is the distance of his place from the city?

A) 22 km B) 18 km

C) 20 km D) 40 km

31507 25 freli/eer & ITa ¥ 9 & 98T H I=m 3R 20 fFHAveEer fr o ¥ a9y @len Ifg
AT A A Fo GAY 1 Ger 48 A o, A AT § 30 SHIE H gl A §?



Answer Key : C Your Response : C (Correct)

Question No. 63

Oxides of non-metalsare _____in nature.
A) Basic B) Both acidic and basic
C) Amphoteric D) Acidic
et F s yHEfa A @ B
A) & B) 3Feliy 3R & et
C) 3HITYAT D) 3FNT
Answer Key : D Your Response : C (Wrong)

Question No. 64

If selling price of 'n' pens is the same as cost price of 10 pens and there is 100% gain, then find
the value of 'n'.

A) 6 B) 10

C) 8 D) 5

afg 'n' O A T {10 96 F FT H{eT F W § 3R SHT 100% F T g g, ar 'n'
I AT AT HIfSIT]

A) 6 B) 10
C) 8 D) 5
Answer Key : D Your Response : D (Correct)

Question No. 65

What is the relation between the frequency v and the time period T of
a sound wave?



v=T v=1/T?

C) D)
v=1/T v=1/+T
TRt &1 T ol STy v ST STad &1al 1 o 1= o747 999 27

A) B)
v=T v=1/T?
0 D)
v=1/T v=1/4T
Answer Key : C Your Response : C (Correct)

Question No. 66

In a certain code language, 256 means 'you are good', 637 means 'we are bad', 358 means
'good and bad'. Find the code for 'and'.

A) 3 B) 8



'good and bad' g1 'and' &T HI5 AT gEM?

A) 3 B) 8
C) 5 D) 2
Answer Key : B Your Response : B (Correct)

Question No. 67

Two cars P and Q start from the opposite direction of 100 km apart. Car P reaches a distance of
30 km, and car Q reaches a distance of 25 km. What is the distance between the two cars?

A) 35km B) 55km

C) 45km D) 25 km

ar & P 3k Q 100 fareft #r gff & var g@y @1 3R FaeT g FA &1 FR P, 30 Feh fr gfr
aF & 8, 3R FR Q, 25 Tl v gfy 7 F Bl QAT BRI F T A gft AT RSl

A) 35 fhAT B) 55 faheT
C) 45 forelT D) 25 foreT
Answer Key : C Your Response : C (Correct)

Question No. 68

If both object distance 'u' and image distance 'v' from a concave mirror is -20 cm and both
object size and image size is 4 cm, then what is the radius of curvature 'R’ of the mirror?

A) -18 cm B) -15¢cm

C) -10cm D) -20 cm

I srader gdor & aeg fr g W' AR gfaRiT Fr g v, A & -20 FW § T TR F IFR
3t ufafdia & 3mer St 4 A &, aF gdor it ahar Bem 'R’ AT fifSwl

A) -18 T&T B) -15 @&
C) -10 @&T D) -20 &Y

Answer Kev: D Your Resnanse : D (Correct)



A) 49280 B) 49380

C) 48384 D) 49384

T F4 4 + 44 + 444 + 4444 + 44444

A) 49280 B) 49380
C) 48384 D) 49384
Answer Key : B Your Response : B (Correct)

Question No. 70

Which of the following is essentially a solo dance?
A) Kathak B) Manipuri

C) Mohiniattam D) Kuchipudi

fArfaf@d & @ Fla 31aeTH T § Thel T 872

A) FUH B) &gl
C) Hifgsirares D) st
Answer Key : C Your Response : Not Answered

Question No. 71

Find tan 75°, by splitting 75° as (45° + 30°).

A) B)



75° @ (45° + 30° % & H FTSd ¥k tan 75° M AR A
FITT|

A) B)
24+ \E 3'\'{5 +1
0) D)
v3-1 243 -1
J3+1
Answer Key : A Your Response : A (Correct)

Question No. 72

P and Q can complete a job in 12 days and 16 days respectively. They work together for 4
days. What portion of work is left for completion?

A) 3/4 B) 6/7

C) 512 D) 7/12

P 3R Q w FF I HaAw: 12 & 3R 16 el & q ¢ G &1 9 & a¥ 4 R a5 F
A &1 P FT hdeTT HET AV I{ SAar 82

AN 2/A1 RY Rr/7



Question No. 73

Daughter's age is one-fourth of her father's age. Five years hence, she will be one-third of his
age. Further after five years, what will be the ratio of her age to that of her father?

A) 5:2 B) 3:4

C) 2:5 D) 3:5

& f I 3FF T H 3P A RS g1 I A 916G, 6 3G T Hr Y A T
foer$ & Sual| 3 Tt die Frer a1, 3Whr 3R 3HS AT & 3 1 G F=4r gham?

A) 5:2 B) 3:4
C) 2:5 D) 3:5
Answer Key : C Your Response : C (Correct)

Question No. 74

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some trucks are bikes.
2) Some bikes are scooters.

Conclusions:
|. Some trucks are scooters.
Il. All bikes are scooters.

A) Only conclusion | follows B) Only conclusion Il follows

C) Both conclusions | and Il follow D) Neither conclusion | nor Il follows

30 WA H, A FUAI & 9Ig aF TSy QU v g1 37 TSt Fr e, S A 9 @ w6t
39gFT &l



1) & &F 5% &l

2) T TSF T L

s

. T& T TR T

II. g3t S5 FHeT E

A) Fad sy | 3ugeEd B B) aaer sy I 3uger &

C) farshy | 3R Il aal 3ugeFd & D) & o fosey | 3R o & ey |l 3ugerd Bl
Answer Key : D Your Response : D (Correct)

Question No. 75

Which of these numbers is a multiple of 247?
A) 63810 B) 31256

C) 53784 D) 35718

g1 W a7 A FE&AT 24 Hr IO §?
A) 63810 B) 31256

C) 53784 D) 35718



Which organisms cause infectious diseases?
A) Worms B) Viruses

C) All of the options D) Protozoa

FleT & N9, TFAF 9T F FROT g 72

A) FR B) fawmor
C) SoToT & |l D) Wiersiam
Answer Key : C Your Response : C (Correct)

Question No. 77
The greatest quantity of air that can be expelled after a maximum inspiratory effect is-
A) Tidal volume B) Lung volume

C) Vital volume D) Residual volume

ag A 9F WOFaA A, SN AT HTEEd GHE F A6 s dr oS @ g,

___ gdr gl
A) SARIT 3 B) %3 T 3R
C) JIUMYR 3T del D) 3rafdrse 3«
Answer Key : B Your Response : Not Answered

Question No. 78

0.1x0.1+0.2x0.2

Simplify:
I f§ 0.3xX0.3+0.6%0.6

A) B)

1/3 2/9



2/3 1/9

0.1x0.1+0.2%x0.2

0.3x0.3+0.6x0.6
A) B)
1/3 2/9
0) D)
2/3 1/9
Answer Key : D Your Response : D (Correct)

Question No. 79

In this question, a statement is given followed by two conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
The minimum qualification for a job is graduation. However, candidates who have appeared for
the final year of graduation may also apply.

Conclusions :
I. All candidates who have yet to graduate will be there in the list of selected candidates.



C) Only conclusion | follows D) Neither conclusion | nor Il follows

50 W #, U FYA & a6 & fAshy R{e aw §| 37 st | g, S A w9 @ weiftew
39gFT &l

Y.
Al & AT FATH AT e gl gTelifeh, e & 3ifae a¥ & ol & arer 3= iicar
o 3MeeT FX FFT B

fsy :
. Tl 3EAR S Tas g a1 §, 9 9ufa 3eiGant Hr gEr 7 g

Il. TATH AT T g T gl § Hf 3ficar TAfAa SFHIGaRT S g 7 giel

A) fasey | 3R 1l gel 3uged gl B) ael fasey Il 3ugerd Bl
C) e fashy | 3ugerd gl D) & o sy | 3R = € |l 39 &
Answer Key : A Your Response : B (Wrong)

Question No. 80

During a chemical reaction, atomic number
A) Changes with volume B) Remains the same

C) Changes D) Changes with temperature

THfAE BRI & SR, WATY] Feiw I
A) 3Id & TY Il & B) THANT T&dT &

C) d&of Slar & D) dI9ATT & AT deoldl &



Which of the following gases turns limewater milky?
A) Oxygen B) Hydrogen

C) Both oxygen and carbon dioxide D) Carbon dioxide

fAefaf@a At F & fFaedr asig @ v 1 9l GfAAT &1 Srar 82

A) ST B) gSsele
C) 3T 3R Pl SEIFASS Sl D) #ae SS3iTFaSs
Answer Key : D Your Response : D (Correct)

Question No. 82

Find the ODD one out from the given options.

A) BY B) EV
C) CW D) AZ
R 1w Repedt # & I A |
A) BY B) EV
C) CW D) AZ
Answer Key : C Your Response : C (Correct)

Question No. 83

A hemispherical metallic solid is melted and recast into a cone of equal radius 'R'. If the height
of the cone is H, then:

A) H=R/3 B) H=2R

C) H=R D) H=R/2

Uid % Teh 31 YAl A RAEarr Ser § AR 3§ 96 Bear R F Uh O4F F ®9 H erer
ST €1 I < Hr F=$ H g,

AY H = R/3 RY H=92R



Question No. 84

Find the ODD one out from the given options.

A) 176 B) 168
C) 154 D) 198
R e Rt # F s A
A) 176 B) 168
C) 154 D) 198
Answer Key : B Your Response : B (Correct)

Question No. 85

What is a sponge in biology?

A) A plant B) A fungus
C) Ananimal D) A fossil
SafaaeT # T T 87
A) T Gier B) T# wdh
C) T Ugf D) Teh SianA
Answer Key : C Your Response : B (Wrong)

Question No. 86

P and Q can do a work in 12 days and 16 days respectively. P started the work alone. After how
many days should Q join P, so that the work is finished in 9 days?

A) 4 B) 2

C) 3 D) 5

Paﬂtowa:ra‘ras‘rmnzﬁ?raﬂﬂsﬁ?r#wm%lPﬁrmm%mﬁqﬂmﬁ

f - L . U . W o~ Y . U S . WL . -




Answer Key : D Your Response : D (Correct)

Question No. 87

Which of the following will best complete the relationship given below?

TEF : UGH :: KPQ : ?
A) LSR B) RSL

C) NRS D) LRS

ferfaf@a & @ Fla @ M Ru av d@eyr F wefcaes dor § QT Fam?

TEF : UGH : KPQ : ?

A) LSR B) RSL
C) NRS D) LRS
Answer Key : D Your Response : D (Correct)

Question No. 88

Reduce to lowest terms 368/575.
A) 30/25 B) 16/25

C) 28/29 D) 25/29

368/575 & fAe1add Y&l # uaFd HieT|
A) 30/25 B) 16/25
C) 28/29 D) 25/29

Answer Kev: B Your Resnonse : B (Correct)



DFl: MOR: LNQ:?
A) UWX B) TUW

C) Uwz D) UWY

fAefaf@d & @ Fia o 3ER-FIg AN QT 1T Faer S Fafead dor @ qor HEm?

DFI : MOR :: LNQ : ?

A) UWX B) TUW
C) uwz D) Uwy
Answer Key : C Your Response : C (Correct)

Question No. 90

Find the difference between the selling prices of two articles sold at 12.5% profit and 12.5%
loss, if the cost price is Rs.400 each.

A) Rs.120 B) Rs.100

C) Rs.80 D) Rs.140

12.5% @7 3R 12.5% g W 30 o1 ar a3t & g Jedf & g &1 Fw 1 ffS,
IfE v 1 FT 7T F.400 B

A) ¥.120 B) %.100
C) %.80 D) %.140
Answer Key : B Your Response : B (Correct)

Question No. 91




C) Tennis D) Auto racing

ARrer Ffdeds Fa @ & Hafta 872
A) FeFarer B) dilew
C) cfaw D) 3ffer Y&
Answer Key : D Your Response : Not Answered

Question No. 92
Who among the following was popularly known as the ‘Frontier Gandhi?'
A) Asfandyar Wali Khan B) Muhammad Ali Jinnah

C) Abdul Ghaffar Khan D) Maulana Abul Kalam Azad

Pfaf@a & O 5 wiear ot & a7 & it J&ar Srar ar?

A) IFEHEIR dell Tl B) #gFHAe 3Tell foieatr
C) 3fsqel IFHR WieT D) Hidmer 3TeeT helld 3TTSTTG
Answer Key : C Your Response : Not Answered

Question No. 93

Which vaccine is used for the prevention of Tuberculosis?
A) AMG B) BCG

C) CSD D) ABC

T A rend & AT 7w F &7 39T fHFar arar 82

A) AMG B) BCG
C) CSD D) ABC
Answer Key : B Your Response : B (Correct)

Question No. 94




55, 59, 65, 73, 83, 95, 109, (...)

A) 125 B) 129
C) 136 D) 138
Aot #r qof el

55, 59, 65, 73, 83, 95, 109, (.)

A) 125 B) 129
C) 136 D) 138
Answer Key : A Your Response : A (Correct)

Question No. 95

Which of the following is NOT a routine session of the Indian Parliament?
A) Summer Session B) Budget Session

C) Winter Session D) Monsoon Session

A F ¥ Fid T WRAT O w1 FART T FAET 82

A) A FF B) sl €9
C) <Mashrelled &= D) ®lelesT @
Answer Key : A Your Response : D (Wrong)

Question No. 96

P, Q and R are the volumes of a cone, hemisphere and a cylinder with equal radius and height.
What is the value of P : Q : R?

A) 3:4:2 B) 1:3:2



A) 3:4:2 By 1:3:2
C)2:1:3 D) 1:2:3
Answer Key : D Your Response : D (Correct)

Question No. 97

In which of the following places is Malampuzha dam located?
A) Chandigarh B) Palakkad

C) Pune D) Papanasam

HAAQST aier, 3o & BF serg W e 87

A) TEETG B) drelgshs
C) gor D) UTI=TEH
Answer Key : B Your Response : B (Correct)

Question No. 98

Read the following information carefully and answer the question given below.

Eight friends—J, K, L, M, N, O, P and Q are sitting around a circle facing the center. J is second
to the right of P who is third to the right of K. M is second to the left of O who sits between P
and J. L is not a neighbour of K or N.

Which of the following groups of persons have the first person sitting between the other two?
A) PJO B) OPM

C) MPO D) OPJ

AITAT@d SIHHRT A €T | 9é 3R & BT 91T W & 3o} &



s fA3- J, KL, M, N, O,P 3R Q, tH Jrad & IR AN Fg M AN g WF 581 J, P &
ad ¥ G T W E, S K F o @ ey T W EI M, O F ¢ § g@¥ VI W g, Sr P
3R J & & Sor 81 L, K a1 N T ggidr &8t 8

ffaf@a & @ e wog #1 g =afFa, 3o af & @i & dor 872

A) PJO B) OPM
C) MPO D) OPJ
Answer Key : D Your Response : D (Correct)

Question No. 99

Find the roots of 2x2 - 15x + 28.
A) Both negative B) Both positive

C) Not real D) One positive, other negative

2x? - 15x + 28 & A A FY

A) AT FOTcHS B) @il eellca®
C) aredides =Tgr D) U& ellcHh, 3T FUTcHS
Answer Key : B Your Response : B (Correct)

Question No. 100

As we move down a group of the periodic table, the electron affinity-
A) Increases and then decreases B) Remains the same

C) Decreases D) Increases

3 I g MaT AR F B W F MY I €, s Syar |
A) Fedr § 3R R T S § B) WA @l §
C) #edr & D) se< @

Answer Kev : C Your Resnonse : D (Wrong)



